M16x2 pitch
— x40 long

e

He3

£

2 M16 Set Screw

. (3 off)

Front View Side View
SAP MATERIAL No.: 0175773
SHORT DESCRIPTION: CONNECTOR KIT,SEP UNSCR 11kV 50-95 D8016
TECH. DESCRIPTION:
UNSCREENED SEPARABLE CONNECTOR KIT *
FOR 6.35/11kV CABLE * ONE KIT EQUALS 03 CONNECTORS *
FOR CABLE RANGE 50 TO 95mm SQ. *
TO FIT EN50180/1 TYPE C BUSHING WITH M16 x 2 THREAD *
TO BE SUPPLIED WITH :
STAINLESS STEEL OR BRASS M16x2 PITCH x 40 LONG SET SCREW,
SPRING WASHER AND WASHER (3 OFF) *
KIT CONSISTS OF :-
INSTRUCTION SHEET, BILL OF MATERIALS AND INSULATING COMPONENTS *
ESKOM DRAWING No. D-DT-8016 *
SAP MATERIAL No.: 0175774
SHORT DESCRIPTION: CONNECTOR KIT,SEP UNSCR 11kV 120-185 D8016
TECH. DESCRIPTION:
UNSCREENED SEPARABLE CONNECTOR KIT *
FOR 6.35/11kV CABLE * ONE KIT EQUALS 3 CONNECTORS *
FOR CABLE RANGE 120 TO 185mm SQ. *
TO FIT EN50180/1 TYPE C BUSHING WITH M16 x 2 THREAD *
TO BE SUPPLIED WITH :
STAINLESS STEEL OR BRASS M16x2 PITCH x 40 LONG SET SCREW,
SPRING WASHER AND WASHER (3 OFF) *
KIT CONSISTS OF :-
INSTRUCTION SHEET, BILL OF MATERIALS AND INSULATING COMPONENTS *
ESKOM DRAWING No. D-DT-8016 *
ITEM - CONNECTORS,SEP UNSCR 11kV
MATERIAL SPECIFICATION -
CORROSION SPECIFICATION -
STANDARD SPECIFICATION - NRS 053
ESKOM SPECIFICATION - DSP34-1622
TEST & CERTIFICATION REQUIREMENTS - NRS 053
INSPECTION | Yes | No | ESKOM RELEASENOTE | Yes | No
IDENTIFICATION:- INDELIBLE MANUFACTURES TRADEMARK & PART No. ON ALL ITEMS
7 0175772 INFORMATION REPOSITIONED ON D-DT-2816 P.A\V. B. MWAREHWA R. KELLY 24.05.2012
6 DRAWING DRAWN SAME AS NRS 053 P.AT. B.MWAREHWA R. KELLY 17.02.2011
5 SHORT DESCRIPTION CORRECTED N.M. P.A..T. P.A..T. 04.02.2009
REV REVISION DESCRIPTION BY CHKD AUTH DATE REF. DWGS
AUTH: | P. CROWDY DATE: | 21.12.1999 |—=ALE SAP No:
NTS @ Eskom | o17s773
CHKD: | G.WHYTE DATE: | 17.12.1999 | ©AD REF: Diswribution | 0175774
SERIES 8000 SET | SHEET REV

DRAWN: | P. A. VERMAAK | DATE: | 29.09.1999 g(l)l'li No: D-DT-8016 1 1 7




